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Applied Grammar

qfSd - raaerqy (qfsd-Taaer)

Reading Comprehension

(i) T F¥T93 TeER: GUST: Gl |
5 Jo7-97 H AR GUS & |

The question paper has four sections.

(i) FAF GUSH 1T IV THIEHT T FHI SFGHIT |

Y% GUE 3 I U &1 578 W HH G Iora 8171 |

The answers to each section must be written at one place.

(iii)  FAGE] FIATFARY STFFTHT TG |

Fe7-T7 F SFIR T -G&IT 3797 & fora &1 |

15 AT

15 HA=T:

30 HET:

30 H=T:

Write the question number according to the question paper.
(iv) T I IFTT TEFAT TG |
Ty} Fv1 % I GEhd 7 17167 /|

Answer all the questions in Sanskrit.



Wus: & (SECTION A)
AUTSATIT— AT (STATSATIT— TSI )
Unseen Reading Comprehension 15 3T

1.  SAIfcRIay AT=s8 TiScal JEauTH HEeh I |
freaffiaa 1=es 1 Test f4U 7T weHi o ST T%ha § i |

Read the following passage and answer the given questions in

Sanskrit.

JIE TEEE ° I BiAdI: YT | Fel 99 B9 el
FeAd - gred ug ot gfamar’ Sed avrensEn: o o afem:
FOM: | AEE: fomnfda: dqa wHaiE: @ T RTeH STASEd i |
TS SHT: TelaT G-HFH STIERI | Td T SHT: Tgree- gwell: waf=d |

AT
I Th9ed 3 | 1x2=2
T I8 § I AT |
Answer in one word.
()  Sfad o faam fomn ufeem: wof: ?
(i)  UZEH o SHT: gul: wyaf= ?

I YUiETRA 39 | 2x2=4

9ol TR | I S |

Answer in a complete sentence.
(i)  : HThed U IR ?
(i) o TFIRUSH AASFHA ¢

52/1 3 [P.T.O.
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. Yedfaeredsy: 3ty 3 fuean forad |
faw 7w foreredt & @ 3ford ST Ao fetfaT |

Choose and write the appropriate answer from the given options.

(%) ‘ol 3fq we gew faeon 7

() feenfdfa: (i) waa:
(i) afeme (iv) 9ead |
(@) ‘oIagFdf< sid e o squs memst e ?
(@) (ii) ~ferenfdia:
(iii) & (iv) I |
(M) ‘vEfeE we 3cad TR STIg RSl TR 7
(i) A (i) "%
(iii) afe T (iv) gder|
() ‘paniy 3fd vee foh foreimuey 3 Ry 7
() ST (i) IIHTH
(iii) T (iv) SRR |

IV. 3T =08 d FYfad Y6 T&hd fofed |
T =S o foIT 3ugra Siiveh weapd A fetfle |

Write the appropriate title for this passage in Sanskrit.

FATARGT IeATeh IfSedT TETITH FEha I |
frferRad voites =t geet feu T It o 3TR Twhd | difTT |

Read the following shloka and answer the given questions in Sanskrit.

‘STTET - QU SHATEE FEI |
TR JUAT qTaTe qfe ||

L. Tehyed 304 |
Teh 37 | 3T ST |

Answer in one word.

() T Hid | ?

Yyx4=2

Ix1=1
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I YUiETRA 39 | 1x2=2

9ol TR | I SN |

Answer in a complete sentence.
(i) gu ok wata ?
(i) 9 fh wafa ?
. Sedfaeredsy: 3faaq 3 fuean forad | 1x2=2
fau U forereai # @ 3fera I e fafaw |

Choose and write the appropriate answer from the given options.

() ==Tgd e Al 7

(ifi) STTHI:
(iv) S9T: |
@ue: @ (SECTION B)
TATCHShehTaH (TEFTeHeS: —ahTd )
Writing Skills 15 A
i wfa stenfaRaay o= wesr-vawerse: [iicar 3H: foreq | 1% 10=5

ot =t fore U frefrftad o= ot wes[ W 14U 77T vTeat ohl Tt € U1 R
g:f:%rF@m

Complete the following letter, written to your friend, with the help of the

words given in the box and rewrite the same.

5 [P.T.O.



THM-SHEM:,

i | ()
GEE ;|

3T A TG | MO STEHTR (i) GERagrINU-

foferm (iii) ST | TR AT T e —GrATIR

(iv) EH | T THET: ALANEHMT: (V) My

Aaq | R Togmehed (vi) Fad | T SHT: Bidical gidiea

(vily — A% | TH IO FEal Rhad W (viil) |
| et x)

I A TEhd TEINURT ASE (ix)

HY JOTHTSSIT e |

o o,
T |

HSTHT

Ay, 1wy, ufd, fowmen, @Ay,
SRS, Radead, ey, Wer ! wq |

4. IY: Yod o TCAT AT TEONSEHI TERAA U TR HEhdH
foraa | 2x5=10
e fou mu o v aoia e © fou U vrest i wErdT @ uie Ghd ST
H FhifST |

52/1 6



Describe the following picture in five Sanskrit sentences with the help of

the words given in the box below.

T, BET:, WA, U, I, IgAf, eI,
d:, J&T:, TMehlceh: , UTHT Afe:, THEE |

31T (OR)
AoSTIEaRTeaMl areray ffafad fowem sifvga usafa awwaas:
T FTwes fored |
oo § fau MU veat it wEmar ¥ feffiad fovs W oute SR 8 T
FT=E Heehd H fofa |

Write a paragraph in five Sanskrit sentences on the following topic with

the help of the words given in the box.
¢ W’
HSTT
S|, &y, fomn, Sfied, EEm, oONee, gewn, |,
STEHTSY:, ISHTG, T, ST, 3o, 11, FTufi:, Hewquiy |
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@ug: T (SECTION C)
FIITFASATRIUTH (TTIT ek SATHIUT)

Applied Grammar 30 AT
5.  AgifaRaqarey Wiisauey af-d afo=sg a1 e foed | 1x4=4

fefaRaa s 1 Waiferd uet # T s1erat af-fase ot fafau |

Write the underlined words of the following sentences after joining or

disjoining Sandhis.

() I 9fd + THY SeramT FHarfiaad |
(i) FAMST: o= fouTaTsa: 31vaq |

(iii) TG + ATY SRS T34 |

(iv) TEUSaTq shIeT: shifeg IR |

6.  SAUTARGAATRIY TWTEAIGHT T o8 a1 Yeqioshedsd: foear fa@d | 1x5=5
frefafaa el ® T@iferd el o1 gHTE Agan forg fou e foskedt o @
i |

Choose and write the correct compounded or expounded forms of the

underlined words in the following sentences.

(%) o e frerafd |
(i) TeE: afeor:
(i) TeTE: = afEr: =
(iii) 9 = v&f = |

(@) foqer 4i: a9 9: 796 %al I 99 Qe |
(i) hfemer
(i) Tomes:
(iii) Tomgetent: |
() oo forener sgw: ga1: wfEd |
() gH T =
(ii) =g weAT
(iii) =g werT A =: |

52/1 8




(8) TorH o9 TTET HIYSHE ?
(i) FrHE
(i) &= I
(iii) &9 T |
7. FUfARgqaeRy W@isaueH JRfaye @as favsy a1 3ty W
faeheu: foman foeq | 1x5=5
frforfaa aret o Warfed uei & Jehiaucrat sl g 3T g sish 3fed
SR forehedt # @ g foafaw |

Write the underlined words of the following sentences after joining or

disjoining suffixes to the roots or words, selecting the correct answer
from the options given below.

(%) Tt ve=t B B gl |
(i) 93 +719 (i) 9 + M (iii) 93 + |
(@) Yg +IM AfcTeRrd qTEINeh T |
(i) HEHHR: (i) HreHHR (iii) ST |
(1) AU TEq + & Td A |
(i) wgam (i) e, (iii) HE |
(|7) ST g A + A e STeH i |
(i) e, (ii) T (iii) TG |
(§) U fRIIR + 1Y AT Eaifd |
() T (i) feremt (iii) foreTry
8.  uifaiRaqarely fekeermii Hesmme Yau: 3fud: sToee: it for@d | 1x5=5
FrfeRaa aret § ik Tt <t gfd wes # fou U 3fea o/ e o g™
HIfST |

Fill in the blanks in the following sentences with appropriate

indeclinable words given in the box.

52/1 9 [P.T.O.
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() I~ o aisany |

(i) @d: Hrelq AT |
(iii) o=y T ! TeATERTS o foh UMY 7
(iv) icTEd FE |
(v) hifehat: RS 7
TS
a%:,m, 'FITSIﬁT, hal, J: |

o - o o
SEAEEIIE TcdT TR I |

3o TET U8 IR ara qut shifsru|

Choose the correct numerical words and complete the sentences.

() @ f&=n suf= | (I I9@R:, 999 |)

(i) — e A | (39, B, Hfifor)

(i) fome® —— <ol WEhR e | (3, 5, 33:1)

(v) — =5 9 B | (Th:, THH, TH |)

(v) e 3ueA JAUIET: Gi=d | (TSI, IoaT=Tdl:, Joasrdl |)

renferRaaarey WenfEauey ey, e | Yedfasweu: 3fuay 3w facr

HAYSIE TN forad |

frfaRaa amei 4 TErfend 98 o1y © | fou e forereai # @ 3t 3w ge

3TYE U i Fed = fafan |

Choose the correct answer from the given options and correct the

underlined incorrect word in the following sentences.

(%) |1 SIeth: GaAtd |
O LSED T BLSED
(iii) sfereRt (iv) ofeteh |

10

1x5=5

1x6=6
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(@)

Ta: I T e

(i) =

(i) i

" a1 qgafaved sgamM:
(i) I

(iii) zeata

“ATE qEdeh wHaeT U8 Ffed |

() st
(iii) T3

3 B qEdeRTerd w3 |
(i) uafd

(iii) T3

‘e T frrg sfed |

(i) ST

(iii) 1w

(i) Tt
(iv) TTEsY |

(i) 9HE:
(iv) seaf=d |

(i) uT3TH
(iv) UTat |

(ii) U
(iv) 789 |

(i) A&
(iv) wifersafa |

@vus: ¥ (SECTION D)
ufsa— Aty (Uisa—raaied)
Reading Comprehension 30 A

FALTARG TSN, U=, AT = UlScal TSy 3T TEhaH foTed |

frefafaa T, vm R Ay # e feu Ty % 3w gk H
fofam |

Read the following prose, poetry and drama passages and answer the

given questions in Sanskrit.
(27) TrerIT:

“FIAISEY | T8 W HIe: | v ISy | ety Moy S
HTg: THOM | T =sherd TREAHM: d JaA Aisaaiy = s
3TEHd dTeft SAT: 3eun: ek Yoo =1 | 3§ ShTd, g 49 I STEd
focied o TR wder foemmissr ad fehamsema ywenfi | o=@ ! &

11

STiter 7o, “feraret w32 gfe: 77 A9, af v a1

[P.T.O.
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TR

[.  WehyUed 39¢d | 1

II.

I11.

Teh ITee § I ST |

Answer in one word.

q: g4 TR e ?

qUiaTeRA 3T | 1
ol et | I i

Answer in a complete sentence.

T Toh TTorfer ?

Jedfaehed s 3faay IR ferean forad | 1x2=2

fow w11 foehedt # 9 3o 3T g faafaw |

Choose and write the correct answer from the given options.

() Sy’ 3fa feramaeer srqug fory ?

i) gfe: (i) 379,
(i) II9 (iv) e |
(@) “vaq faemmIsE’ 319 ‘37’ 3d HaATHUE el T ¢
() FdHHEE (i) FHE™
(iii) ST (iv) STTd |
(3m) w=rm
AT gHYET T qeNT 1SRRI |
IRersT %ot U grisuse fageet: 117
q9-T:
[ TS 39 | 1
Teh 15¢ T 3T AT |

II.

Answer in one word.
3UFd A T W?
quiaTeR 3T | 1
PUEIERE: RIS

Answer in a complete sentence.

fomest: dige ool TNEIST 3T9aa o 7
12



1. exisheus: 3feaq 3t facar foreq | 1x2=2
fow 7Tu okt # @ 3fod 3T g faafam |

Choose and write correct answer from the given options.

() ‘gea’ 3fa framuees 5 sdud velish W ?

() eHYem (i) fomgeh:

(i) e, (iv) % |
(@) ‘edyem’ 3t yee fogrsrg fory ?

(i) = (i) TN

(i) e, (iv) %ad |

(3) e
“Teed: - g! foRmee 7 wad e g Feeisi R |

hlch: — (W)W'ﬁmﬁwm|mw
. |

Tored - O ot e ! Wi g Fafird: SR S g
TRty 7 swfy |

Fh: - TRl I A | 3R ! T Tew F feden sef,
SHT: TSR smEeRd wen gt | T sgan! o) g
TATGY: FAN: Iq "I R FeRf ‘oFd J8d =q
W:Eﬁﬂln

[ U 39 | 1
T 3768 H I I |

Answer in one word.
378 TRY o goiHT: ?

. qUiameRH 3T | 1
9ol TR | I S|

Answer in a complete sentence.
HTa: TRrep o et 7
52/1 13 [P.T.O.



1. exiasheus: 3feaq 3t facar foreq | 1x2=2
fau U forereai # @ 3fera I e fafaw |

Choose and write the correct answer from the given options.

(%) ‘ergfr.” gfa fomivoress foh fomoadey ?

() TS (i) =
(iii) =afora: (iv) SHSITRI |
(@) ‘T=af<’ sfa fopamaes fo squeq ?
() T (i) T
(iii) TTed: (iv) o= |
12.  eifaRadeemmat g we faseds: foen foeq | 1x2=2

frfcTRaa e i1 wgfea Wre foehedl | @ Ao faTRaT |

Choose and write the correct gist of the following sentences from the

given options.
() “HH TS ET: g T |
(i) GI: FIETIHT UL |
(i) g T e TOET STEEET |
(i) T TF GIS TOHTRT: ITE: |
(@) wefeqq o, Telt s ovg |
() gTiCeAT: Ul T THRATR T |
(i) §d SET: T IR Toaeq Gad: = Wag |
(iil) 9 TETH: T: HedTvl TFd o T93=q |

13.  TosTa: TYfedueT e stenfaiaayaiergaed a9 gd | 1 x4=4
o1 § & TYfod ug TRt FefetRad St Taileni o 37+ sl U1 ShifoTT |
Complete the prose order of the following two shlokas by choosing the
appropriate words given in the box.

(%) “fagm: @ AlensTEH S Yehifdar: |
FAN wed ¥ g9 =eEd wa )
52/1 14



14.

15.
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I - (i) QAo fogTe: Ta Fesa=: Jehifdar: |
(ii) a8+ A (Te) o g Tl 7 |
(@) ““wrfd o 91 Tk qaeHayfSIan |
eI Tt fout | aoameg sEifm 1)
= - fawt ! o @y 3t 7 qaeHa-gieay
EEZ KR E1T) M— e
gy (iv) |
RSNl
=AY, i, sty s1fe |

TETTEAUET AT TeAHI0 Hed|

{@Tfohd aT oh AR W Te fmfor il

Frame the questions on the basis of the underlined words :
() ST Aok T UHE YT |

(i) TS vd HE e |

(iii) TR & FH Fedl H: G ASiaa |

(1v) 3ARUMTEA Hdeh 3cddl: HI |

(v) ARV TSYTHT ST AT |

ARG HATRATIARY T |

freaferfiaa areRti st JeTsha & gER fafan |

Write the following sentences in their sequential order.

() U foRTere 9umTR YUHER: STEATIehT: o JUTAST: |
(i)  STAIFMHR o TATH TAATH S TT: |

(i) TAIHIAV qF FHEToaIg NHRRIATT U= Jeq: |

(iv) @1 09 T Ye¥ Yq@reqd: fvfdr: |

(v) T AR AT SHEmmy ST S |

(vi) TEYYH o7 SRV Yeohd: Hiwed Ffofay |

15

Ix5=5

Yy 8=4

[P.T.O.



(vii) TeATTERRY TeaTATeEe forsmen smfigy s=sf |
(viii) T STET: T Ty fore? T St |

16. Y@ETEdaueH yeEary 31 fucar foraa| 1x3=3
{@TleRd Ua1 o SETIGER 7% e fafau)

Choose and write the contextual meanings of the underlined words.
(%) o AT T AR |
(i) =Y
(ii) ST,
(iii) 3R |
(@) ‘I AT AER: G- 7=4d |
(i) AT
(i) STTd:
(iii) IO |
(M) ‘e T Al wEe |
(i) @8
(i) Ry
(iii)) @A |

52/1 16



